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If a2  b2  c2  2 and

fx  det

1  a2x 1  b2x 1  c2x

1  a2x 1  b2x 1  c2x

1  a2x 1  b2x 1  c2x

, then fx is a polynomial

of degree
(a) 2; (b) 3; (c) 0; (d) 1
Solution by Arkady Alt , San Jose ,California, USA.

det

1  a2x 1  b2x 1  c2x

1  a2x 1  b2x 1  c2x

1  a2x 1  b2x 1  c2x



det

1  a2x 1  b2x 1  a2x  1  b2x  1  c2x

1  a2x 1  b2x 1  a2x  1  b2x  1  c2x

1  a2x 1  b2x 1  a2x  1  b2x  1  c2x



det

1  a2x 1  b2x xa2  b2  c2  2  1

1  a2x 1  b2x xa2  b2  c2  2  1

1  a2x 1  b2x xa2  b2  c2  2  1



det

1  a2x 1  b2x 1

1  a2x  1  a2x 1  b2x  1  b2x 1  1

1  a2x  1  a2x 1  b2x  1  b2x 1  1



det

1  a2x 1  b2x 1

x  1 x  1 0

x  1 0 0

 x  12


